


46 + 28 =

?



десятки единицы

4 6

2 8
+
______________

? 14



десятки единицы

4 6

2 8
+
______________

416+1 7



Вычисли столбиком45 + 37=

33 + 27 =

43 + 39=

41 + 49 =

26 + 34 =

29 + 44=

18 + 73 =

54 + 37 =

15 + 72 =

36 + 55=

25 + 25 =

16 + 16 =

36 – 18 =

38 – 19 =

34 – 17 =

25 + 26 =

19 + 21=

45 + 46 =

70 – 36 =

50 – 26 =

  

 
...



десятки единицы

6 3
2 8

_

______________

?1 дес. = 10 
ед..

10+ 3 = 13

5

- 1 = 5

3



Применим полученные 
знания!



Я научился! А 
вы?


